{220, Write two situations for the following where brackets would be necessary:
{a} K{l6-d)
() (2] (14-2)
Q21. Give two exnmples where the number of things counted would be mone than 6-digit number.
(222, You hove the following digits 5,2,3,5,9 ond 1. Using them moke five numbers each with 6 digits
{a) put commas for ensy rending
{b) armnee them in nscending order
Q23, Nome five lurge cities in Indin. Find their populntion. Also, find the distance in kilometres between ench poir of cities,
Q24, Estimate the following sceording 1o the genernl rule;
{a) STHI - 437
{b) 3782 + 8279
fey 738 x 323
25, Write first five multiples of 72,
Q26. Write oll the prime numbers less than 32,
27, Express 44 ns he sum of two odd primes,
(228, Write seven consecutive composite numbers less than 100 so that there is no prime number between them.
Q29 Write oll the foctors of 78.
Q30. Write live pairs of prinwe numbers less than 25 whose sum 1s divisible by 3.

PROJECT WORK:

Group 1: Make a pheto frame on “RAMANUJAN - The Great Mathematielan™ You need to make a pleture of Ramanujan and write the
important conirlhutlons of him ( In not moere than 50 words).

Group 2: Muoke o Rongoll design with the help of different peometreleal shopes vou konpw (21} anly).

Group 3 : Make the place value model using paper cups and writing down the large numbers and their place values on |t.

Group 4 : Make o Designer Townshlp with the help of the different geometrical shapes you know (2D enly).

Group 5: Make n Designer Symmetricnl Pattern with the help of ink blot and paper folding and decorate |t



MATHEMATICS

1. Fill in the blanks:
®  §the product of taowhole numbers i zero then of them will be zero,

®  Every natwral number except _ has o predecessor,

®  Fucallthe number 1o the cullection of natural numbers, we gt the collection of whole numbers
® Macevalue of Tin "I627T9HY" s

®  [Expanded form ol 1920671 is

& Number nume of 63728729 in Indian system of naumeration is

®  Number nome of TE26THI26 in Internanonal system of numerition is

L is the smalle st whale number,
®  Whaole mumbers are ¢limed umler anil
®  [vision by is mol delined.

® I weodd o a number, we pet its successor,

L T80 w hen estimaled 10 the nearest tons 1s andd when extimated 1o the nearest hundreds is

2 Medicne s packed in boxnew, cach weighing Skg 6. How many such boves can be loaded in a van which cannot camry beyond 200k g?
Q3 A student multplied 123 by 67 instend of mulplying by 76 By how much was his anower lesser than the comect answer,
O Sunny is a lamows orcket playver. He has so Tar scored K912 runs in test maiches, He wishes 1o complete 10,000 runs, How many more ouns does
he need?
X, Swarung from the smallest 9 digit number. write the next five numbers in the ascending order.
6. Write the predecessor Tor the Tollow ing numbers:

® 121073

® 1932802201

Q7. Write the successor for the following numbers:
fa) JIRO121I0
(by GK7S2122

Q8. Write the following in roman numerals:
(1) 329
(b) o
(c) 11

F). Write the Tollowing in Hindu - Arabic sysdem of pumeration:
(a) ceexc
(b) Lxxxvi
(c) coxwvi
(d) xcix

Q10. The canteen charge Ra 50 for lunch and R 20 for malk for each day. How much money do you spend in 4 doys oo these things?

QUL Simplify by using suitsble propertics (also state them ):
() 71 x5%6+29x%
(b} 135« 52+ 135048
(C) 16825 x 16825 — 16825 x 6245
(d) se9x 17+ 569 13+ $62x 70

QIL I the product of o whole numbers is 1, can we say that one or both of them will be 17 Justify through examples,
Q13 Sunphiy by using suitable reamangement:

{a) 41927x18

by 250xa60x50x s

Q14 IF you ane on p diet and have a breaklast contaming 150 calories, a lunch consisting of 350 calones, and a dinner consisting of 1000 calories,
then find the surn of the calones consumed thar day,

Q15 At acerunn school each classtoom contmns 32 students. How many classrooms will you need for 384 students?

Q16 You are travelng af a constant speed of 25 mules per hour How Jong wall it take to travel 220 mules?

O17. The difference between two numbers is 9374261, [T the smaller number 12 S2771K, find the preater number.

QI8 The mass of a evhinder filled with as 10 30ke 2500 arx] the moss of the empty eylimnder is 14kp 480w How much is the moss of the pas contnined
in it?

Q19 Wnite the expression for each of the follow ing usimg brackeis:
fa)  Sivmuilbphed by the difference of minetesn and two
{b}  Forty mune divided by seven times the sum ol one and theree



